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A) 9 B) 12
C) 24 D) 32
e SR AL S e S A EF ol U S e 32 E LA i
A)9 B) 7 C) 8 D) 12
cuEC L Fe el T wl Sk L) "BENZENE”
A) 400 B) 420 C) 460 D) 480
-2 Lug s objects 34\ Li—>Lux combinations &£ L D.s.CB.A objects.t
A) 16 B) 12 C) 8 D) 4
ce s 2 i —1)!
A) n+l B) n-1 C)n D) None of the above
Sl £ (2x - 1)%° expansion . FSCoefficients
A) 0 B) 1 C) 2 D) 3
-u@tfii (x+y-2z)>° expansionf/fJCoefficients
A) 0 B) 1 C) 2 D) 3
_$nifvalue Slog to base 10 of 1000%°
A) 109 B) 99.9 C) 9.9 D) 95
b ks €58 NS LU AT () T S Susf
A) 7! B) 7 + 3!
C) 71+1 D) 71-1

e o S F s Sk Sir Lt "THOSE"
A) 320 B) 220 C) 210 D) 120



externally* B(-1,-4)sA(-3,-7) intervals sspoint P./1, £ coordinates £ Point P

e/ eratio 4:3
A) The point P has coordinates (5, 5) B) The point P has coordinates (3, 2)
C) The point P has coordinates (9, 4) D) All the above

w2 5L (-2,-3)4(3,4) ez ST S el S VL]
A) y—4 = (x — 3) oralternatively 7x — 5y —1=0
B) y—4= g or alternatively 5y —1 =0
C) y= g (x —3) oralternatively 5y — 1 =0
D) y—4= g (x — 3) or alternatively 7x —5y —1 =10

bW Uek3x + 4y = 11 equation./ ¥« lets_£Line 'L < Point P(-6, -7)
A) 57 B) 5 C) 57 D) 57
5 57 70 65
-Lb.ulfffsec &cos & trigonometric expression
A) tand B) 1 C) coto D) sing
_u:"i o~ multiples of z, b,um_j.g_/d"/o < &<2z equation 4cosd +1 = 2cos@
A) iz 4x B) = 5z C) Iz lix D) = fx
3003 6 i’ 6 3703
3
. . ] tand & = —=gec &
=" 2 multiples of =, 2T/ F S 0< e <2z equation 2
A) x 5x B) ix = C) = 5z D) iz 4x
2" 2 4° 4 303 3703
~ude S s Sk Di7 L9 "UNUSUAL”
A) 840 B) 940 C) 1040 D) 740

SFE e fie 0F e Ui S o F L UE I 158 p6 sSSP
=&
A) 211 B) 210 C) 228 D) 310

-«real solution (¥ equation 4x* + kx + 1 = Ofﬂfmfvalue Sk
A) 3 B) 4 C) 5 D) 6
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cmzA =55°_/ round —Fnearest tenth w2zt .o/ s Aidy ot (Traingle)eds

b =68 .3l mLB = 44°

A) ms=81°a=96.7,c=80.2 B) ms=81°a=80.2,c=96.7
C) ms=81°a=89.2,c=577 D) m~sr=81°a=57.7,¢=89.2

40l Dzl Tne=1Tm0=12a=11 (e L1p £ 204 Ui

A) mZA=848° msBE=499° msC=453°
B) ms4=447° msE=401° msC=952°
C) ms4=848° msBE=453° msC=499°
D) ms4=40.1° msB=447° msC=95.2°

Snvalue ‘;f{mﬁ.gu:,,mjﬁsg/p _mzL = 43°,5K=5in.§=9in. o arki, L

A) 28° B) 59° C) 32° D) 75°
. - o e . it . . fou -
-efidentity ALALLE Sy % equation St/ =3z fexpression |
A) | +cos8 B) :in& C) Il-sng D) 1+3sind
cos & cos &
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A) 24 B) 120 C) 240 D) 720

)}Alnd/}/LMJ)J{,}!Ku,{/uf/!‘amlagﬁ/{’/u;{/é&cu@../zu}ié)’é&uﬁﬂég vg
S Yilin PEE ULy

A) 10 B) 24 C) 48 D) 120
p{vys consonant.,gmﬁ/@&ctg Jﬁs,;ffu&/uwg 7 "TREES" s Ui b &
0F AL eblis Letnls f

A) 9 B) 18 C) 24 D) 27

en L 2 C BB S e Jﬁs,g]f’;n&/dw( 7 Z"ACTIVE" sy p &
_Ladu/'”

A) 48 B) 120 C) 240 D) 720

ez ttrainglesE oL« iiixWorandomlys points (9)5 g /st
A) 84 B) 120 C) 720 D) 60480
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-‘LL/U/L_LJ:J:)',.?//C-’J‘?K(%) =10
A) n=2 B) n=3 C) n=4 D) n=5

Ce LWLt IS (2x-3)" equation —izbuy e Ut o
A) 16x° B) -96x° C) -216x* D) -216x

T ULt I (322 - %)4 equation —I2b-us e it ioian

A) 81x° B) -54x° c) 3, D) 1
2% 16

_$xvalued'k' variablessterms 23 &3¢ (a- 2% equation /i
A) 8 B) 9 C) 10 D) 11

euslE Sre-arrangec Ui S e wd SIS0 L v it <" IIM p 2
A) 4 B) 9 C) 6 D) 12

eI LS ()T digitut AU bl 5 AL i e 599951100,
A) 16/25 B) (9/10)° C) 2775 D) 18/25

_$= ' degree Spolynomial £ n™ order difference |
A) Zero B) One C) Some constant D) undefined

ny A F Sottbhsw b AL w2 P gtis et S
A) Anevennumber B) Anoddnumber C) Aprimenumber D) A perfect square

-« Airrational Ly o
A) \2 B) e C) BothA&B D) None of the above

ce 2P luf e idie e ind LA setfirelation transitive.sSymmetric 'R/

A) R is reflexive and hence an equivalence relation

B) R isreflexive and hence a partial order

C) Ris not reflexive and hence not an equivalence relation
D) None of the above

_anﬁ‘felementsuﬁpower setZ {{{}}1,{23)} erA
A) 2 B) 4 C) 8 D) 3
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R relation =& /% JR relation - Sordered pairsi R={(1,20), (2,3)} relation_(./]

-ExTransitive .sReflexive.Symmetric

A) 4 B) 5 C) 6 D) 7
K e S FextyTny=1o>0.mu el real sy six S
A) 15 B) 19 C) 1.75 D) 20

equationsy ill-conditioned systemel ¢fe Ut el Utio e st & i g LK il s

4L
A) Small change in coefficient will result in large change in solution
B) A wide range of solutions can approximately satisfy the equations.
C) Ifaslope of two lines are almost same, they make up an ill-conditioned system of
equations
D) All the above

1, Zvalue (200! two hundred factorial) =g & # 7L 200
A) 49 B) 40 C) 48 D) 52
_¥xiforder U7 4 - terms 720 determinant £+
A) 5 B) 6 C) 7 D) 8
?94!45{1,2,3} bbff .Q/b'«@‘“"gb.«fﬁg
A {2,1,3} B) {3,2,1} C) {12,31} D) All the above
relationy b=[a] S Ute U1 2 2 b ke aRb S 'R' Relation (it er Zintegers
-@’ZVU){LU:JJ.?/%’
A) relexive B) Irreflexive C) Symmetric D) Anti-symmetric

-Q/g@‘“'lguyé’icgﬂc«vyd5g/ﬂ
A) Any integer chosen from 1 to 12 should have at least 2 of them summing up to 13
B) Any 11 integers chosen from 1 to 20 should have at least 2 numbers, such that one is a
multiple of the other
C) 10 integers, 1 to 10 arranged at random in a circle should have at least 3 successive

numbers summing up to greater than 16
D) All the above

td o (< JEF600.51)5¢ divisorsL 600
A) 24 B) 22 C) 23 D) 25
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¢ FriiiRank S 4 < o5 LU = elementary operations f;.;..c
A) Scalar multiplications
B) Adding two rows
C) Adding a row with the scalar multiple of another row
D) None of the above

-‘{ngb’ﬂgc«&iﬁd)'g/ﬂfgﬁm.g
A) finite B) achieve a desired objective
C) single entry and single exit D) all the above
(234
- EEPROMcuﬁJj:’,?/,w
A) Electrically Erasable Programmable Read Only Memory
B) Easily Erasable Programmable Read Only Memory
C) Electronic Erasable Programmable Read Only Memory
D) None of the above
_94!4£JK¢;§1
A) 8 bits B) 4 bits C) 2 bits D) 9 bits

- ASClleyz Siosur
A) American Stable Code for International Interchange
B) American Standard Case for Institutional Interchange
C) American Standard Code for Information Interchange
D) American Standard Code for Interchange Information

—<_tik/system software {4 ibus

A) Disk cleanup B) Disk Validation
C)bothA&B D) Disk Promotion
MRy s e HS e d L i
A) Compiler B) Operating System
C) Loader D) Assembler
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ce TS Lezevue L 7 BT Ao L processiys et i er

A) User interface B) Language translator
C) Platform D) Screen saver
-‘LUNIVACgui’Jj:’,?/p
A) Unvalued Automatic Computer B) Universal Array Computer
C) Unique Automatic Computer D) Universal Automatic Computer
S SA G0 L steps Lois? e tn S procedural steps Al eyt
el
A) Flowchart B) Chart
C) Drawing Chart D) Food Chart
- Mozilla Firefox
A) Web Browser B) Editor
C) Search Engine D) none of the above
-‘ngfz_ LAk SF8" key uﬁfu.»)w)?/”
A) aword B) a sentence
C) a paragraph D) entire document
et Ui L Ctrl + I Ziseits £
A) Align Justify B) Insert Hyperlink
C) Search D) Print
WUVSEIMNTFS & e -uiVersione uf = Ut versionssisfis e
A) Windows 98 B) Windows XP
C) Windows NT D) Windows 95
—c WS eui-uzdasy configuration settings -t 6Liut e
A) Win.ini B) Command.ini
C) Windows Registry D) System32.ini
-~ _wsapplication Ui« UytinTikey UigiZkey F ” applicationt-ws/¥ssxs
A) Speech to Text B) Keytalk
C) Text to Speech D) Narrator
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e $ S executes command L ek Ut uds F by o Sle Lt wind wsl XPosks &

~e e Ui
A) Narrator B) Language Bar
C) Speech Recognition D) None of the Above
?‘Lr}fujﬂVU/g//%'%;’jVLffﬁ{,?]}x) 66
A) Internet Explorer 6 B) Internet Explorer 8
C) Internet Explorer 7 D) Internet Explorer 9
?wLﬂ)ﬁ}”dc%c«yﬂ}(j/}gcu/uf7]}1’) 67
A) Windows Defender B) Firewall
C) Encrypting File Security D) All the above

-« (LYY share § = * hardware devices s 08

A) Printer B) Scanner C) Plotter D) Mouse
Y Lnﬁgj{{.gc0/cwd5g/ﬂ 69
A) A central processing unit B) A memory
C) Input and output unit D) All of the above
x . . .. 10
U input devicelusti o
A) scanner B) camera
C) plotter D) digitizer
_‘L;l/ga BIOS &
A) Basic Input Output System B) Best Input Output System
C) Basic Input Output Symbol D) Base Input Output System

‘e L s e Sidipine T2
A) Mainframe Computer B) Mini Computers
C) Super Computers D) All the above

?‘Luﬁ?}&/u SiZGKqud:N.gJKLU:J.5g/ﬂ 73
A) 8 inches B) 5 ¥ inches C) 3 % inches D) 5% inches



-‘LEBCDICcuﬁJj:’,?/,w
A) Extended Binary Coded Decimal Interchange Code
B) Extended Bit Code Decimal Interchange Code
C) Extended Bit Case Decimal Interchange Code
D) Extended Binary Case Decimal Interchange Code

_‘Lt‘ndlﬁ"lKﬁ/aufii.bl}‘:ﬁc«bj’”uyuék/bf{z{
A) ASCII B) CRC
C) EBCD D) All of above
-et/managesF c uf T B Je tdioinr
A) Memory B) Processes
C) 1/O devices D) All of the above
-« AL LE TS client-servervys e i 4~ 8 Tt o
A) MSDOS B) Windows 95
C) Windows 98 D) Windows 2000
_444!4 GB1
A) 2% bits B) 2% bytes
C) 2% bits D) 2% bytes
e Wb s e e manage S s Sl s S 2 e ke sy ted
A) Compiler System B) Operation System
C) Operating System D) None of the above
-‘LJ.?;J@JK/&Q/?T.QLJ:J}VU/
A) Debian B) Windows 7
C) Chrome D) Mac
e b g it T Ut
A) CPU B) Memory
C) Hard Disk D) Floppy Disk
lbile e
A) email address B) IP address
C) intranet account D) None of the above
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—ef format 6681y 1o Lilie S oy

A) PNG B) GIF
C) BMP D) GUI
e /’L’nicﬁgué’é ol Operation Redo.s Undo-Recovery
A) Commutative B) Associative
C) Idempotent D) distributive
et/ 1} connectioney It o e Ut i g e
A) TCP B) ISP
C)FTP D) HTTP
e e nd ZURLL e Ui ine
A) Uniform Resource Locator B) Universal Resource Locator
C) Uniform Radio Locator D) None of these
-‘Luﬁlaﬂ/‘ié‘fﬂ&g}!u[cu:d;:/ﬂ
A) Operating System B) Modem
C) Web Browser D) MS-Office
-« internet browser —{ib-y = Uttt
A) Netscape Navigator B) Chrome
C) Drupal D) Opera
_‘Lf’"’volatile.,{w/yfb«u/ ERY A9 P
A) RAM B) ROM
C) Hard Disk D) None of the above
?‘Lguyl{‘c)}’/auﬁc«vydjg/ﬂ

A) Minicomputer works faster than Microcomputer

B) Microcomputer works faster than Minicomputer

C) Speed of both the computers is the same

D) The speeds of both these computers cannot be compared.

te & 2 ZMS-WORD wlbwd e el oie
A) system software B) high level language
C) spread sheet application D) word processing package

11

84

85

86

87

88

89

90

91



-t AL sl
A) system software B) application software  C) firmware D) All the above

-« application software{ifie 4 oy
A) MS-Excel B) Norton Antivirus C) Windows media player D) Calculator

e JEfPARAML S = i O
A) Super computer B) PC C) Laptop D) PDA

b g{u‘/ﬁ&&&v%’ %

A) Homepage B) Index
C) JAVA script D) Bookmark

?‘L[}tgwg,?u/?ubé Low-level languageust &) ,4‘/ %

A) BASIC, COBOL, Fortran B) PROLOG
C)C,C++ D) Assembly languages
-<t/Ut machine Ianguagex}b{.;y),uf(f ,44_/guﬁc5,,gﬁr¢// ,4/‘}:[ L o7
A) Interpreter B) CPU
C) Compiler D) Simulator
—e /Y L3 Siglogicu s/l programmer (| %8
A) understand the problem B) test the program
C) translate the program D) code the program
LSy Ll el U S 9L £/ ¥Cascading rollback 99
A) strict two-phase locking protocol B) tree locking protocol
C) two-phase locking protocol D) validation based protocol

_‘Lm’pL?@J/}((’/J/?&“LLLQ}UP;&]@'JU}‘{D//gJ/DP ‘LXVEVL’%;"[{!(K@.Q fﬁ(!j}{,vg 100
A) Worm. B) Trojan horse.
C) Virus. D) Macro virus.
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